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/ * Counts the number of lines. * /
public static int getRowCount(String json) throws
JSONException{
JSONArray array = new JSONArray(json);
return array.length();
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public class Clazz{ public class Clazz{
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1 / % Counts the number of lines. * /
2 public static int countLines(String inputString) {

3 if (inputString == null || inputString.isEmpty()) {
4 return 0;

5

6 int count = 1;

7 int length = inputString.length();

8 for (int i = 0; i < length; i++) {

9 if (inputString.charAt(i) == ’\n’) {
10 count+-+;

11

12

13 return count;

14 }
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1 @Test(timeout = 4000)
2 public void testl() throws Throwable {
int int0 = Countlinesgpt.getRowCount

w

4 ("[{\"name\":\"Alice\",\"age\":25},

5 {\"name\":\"Bob\",\"age\":30}1");
6  assertEquals(2, int0);

7}
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